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FB4.5t*501# FH

a:50 (mm)

b:50 (mm)

t:4.5(mm)

w:24® (mm) MI12]

c:28.5(mm) HINB/RUNE
RE T D1k

Wr i £ 2% : Z(mm?)

Jix 77 :P(N)

77 0§ (N/mm?) SS400
T — A M(N+mm)
A2hHE:Almm) =a-c

FEROTETEHETHE
Wrim a2 7Z=4.5%4.5%50/6
7=168.75 (mm?)

B L LU CEMRT 58

6 =M/Z-M=AP/4 I

6 =AP/47 235=21.5P/4%168.75
P=7,378(N)

DT F Y

FB 9t*65fF

a:65(mm)

b:65(mm)

t: 9(mm)

w:30P (mm) MI16H]

c:39(mm) HINBRUE
RET D1k

Wrim 2K Z (mm®)

i 77:P(N)

I B 6 (N/mm?) SS400
F— A~ : M (N+mm)
Hih~1E: A(mm)a—c

LR OHETEHE T L
Wi fRd Z=9%9%65/6
7Z=877.5(mm?)

HAR LU CEHRT 24

6 =M/Z-M=AP/4J.0

& =AP/47 235=26P/4%877.5
P=31,725(N)

FB 12t*65{# FH

a:80 (mm)

b:65(mm)

t:12 (mm)

w:37® (mm) M20H

c:49(mm) MIAHRNE
RE T 5D~k

Wrim£2%%: Z (mm?)

i 77:P(N)

S 6 (N/mm?) SS400
T— A M(N+emm)
H2h~11%: A(mm) a—c

FEREOTETEHETHE
Wrimfad Z=12%12%65/6
7Z=1,560 (mm?®)

BAP LU CEMRT 54

§ =M/Z-M=AP/4J0

6 =AP/47 235=231P/4%1,560
P=47,303 (N)
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7L —R2.3t%201F A

a:50 (mm)

b:4.6 (mm)

t:20 (mm)

w:24® (mm) MI12]

c:44(mm) RMIRAHRNE
RE T D1k

Wr i £ 2% : Z(mm?)

Jix 77 :P(N)

77 0§ (N/mm?) SS400
T — A M(N+mm)
A2hHE:Almm) =a-c

LROTETHEAET L
Bk £R 4k Z=20%20%4.6/6
7=306.66 (mm®)

B L LU CEMRT 58

6 =M/Z-M=AP/4 I

60 =AP/47  235=6%P/4%306.66
P=48,043 (N)

a7

ZL—b 3.2tx30{#F H

a:75(mm)

b:6.4(mm)

t:30 (mm)

w:30P (mm) MI16H]

c:60(mm) HINGB/RUE
RET D1k

Wrim 2K Z (mm®)

i 77:P(N)

I B 6 (N/mm?) SS400
F— A~ : M (N+mm)
Hih~1E: A(mm)a—c

FEOTIETEETDE
Wit Z=30%30%6.4/6
7 =960 (mm?®)

HAR LU CEHRT 24

6 =M/Z-M=AP/4J.0

6 =AP/47 235=15%P/4%960
P=60,160 (N)

7L —h 4.5t%38f5

a:90 (mm)

b: 9(mm)

t:38 (mm)

w:37® (mm) M20H

c:75(mm) HINGB/RUE
RE T 5D~k

Wrim£2%%: Z (mm?)

i 77:P(N)

S 6 (N/mm?) SS400
T— A M(N+emm)
H2h~11%: A(mm) a—c

FEREOTETEHETHE
Wrim a2 Z=38%38%9/6
7=2,166 (mm?®)

BAP LU CEMRT 54

§ =M/Z-M=AP/4J0

6 =AP/47 235=15%P/4%2166
P=135,736 (N)



